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HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
l−F10_L,1(λ)=B11x

−
F10_L,1(λ)+B12y

−
F10_L,1(λ)

+B13z
−

F10_L,1(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P60:Σl−F10_L,1(λ)=20,98
xF10_L,1=0,2338
yF10_L,1=0,2437

CG510−2N_1

Wellenlänge λ /nm
400 500 600 700
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HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_L,1(λ)=B21x

−
F10_L,1(λ)+B22y

−
F10_L,1(λ)

+B23z
−

F10_L,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

P60:Σm−F10_L,1(λ)=21,54
xF10_L,1=0,2338
yF10_L,1=0,2437

CG510−3N_1

Wellenlänge λ /nm
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HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
s−F10_L,1(λ)=B31x

−
F10_L,1(λ)+B32y

−
F10_L,1(λ)

+B33z
−

F10_L,1(λ)
B3j 0,000 0,000 0,4657 λ=440

P60:Σs−F10_L,1(λ)=22,03
xF10_L,1=0,2338
yF10_L,1=0,2437
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HPE_CIEF-Zapfen-Empfindlichkeit  Ysum=100
l−F10_L,s(λ)=B11x

−
F10_L,s(λ)+B12y

−
F10_L,s(λ)

+B13z
−

F10_L,s(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P60:Σl−F10_L,s(λ)=98,26
xF10_L,s=0,2338
yF10_L,s=0,2437

CG510−5N_1

Wellenlänge λ /nm
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HPE_CIEF-Zapfen-Empfindlichkeit  Ysum=100
m−F10_L,s(λ)=B21x

−
F10_L,s(λ)+B22y

−
F10_L,s(λ)

+B23z
−

F10_L,s(λ)
B2j −0,4299 1,2038 0,0862λ=540

P60:Σm−F10_L,s(λ)=100,88
xF10_L,s=0,2338
yF10_L,s=0,2437

CG510−6N_1

Wellenlänge λ /nm
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HPE_CIEF-Zapfen-Empfindlichkeit  Ysum=100
s−F10_L,s(λ)=B31x

−
F10_L,s(λ)+B32y

−
F10_L,s(λ)

+B33z
−

F10_L,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P60:Σs−F10_L,s(λ)=103,18
xF10_L,s=0,2338
yF10_L,s=0,2437

CG510−7N_1

Wellenlänge λ /nm
400 500 600 700
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0,0

   

1,0

   

2,0

HPE_CIEF-Zapfen-Erregung
log [l−F10_L,s(λ)/{0,5l−F10_L,s(λ)+0,5m−F10_L,s(λ)}]

P60:Σm−F10_L,s(λ)=100,88
xF10_L,s=0,2338
yF10_L,s=0,2437

CG510−8N_1

Wellenlänge λ /nm
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HPE_CIEF-Zapfen-Erregung
log [s−F10_L,s(λ)/{0,5l−F10_L,s(λ)+0,5m−F10_L,s(λ)}]

P60:Σs−F10_L,s(λ)=103,18
xF10_L,s=0,2338
yF10_L,s=0,2437

CG511−1N_1

Wellenlänge λ /nm
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P60
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CIEF10_L-Normspektralwerte y−max(λ)=1
x−F10_L,1(λ)=A11l

−
F10_L,1(λ)+A12m

−
F10_L,1(λ)

+A13s
−

F10_L,1(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P60:Σx−F10_L,1(λ)=21,17
xF10_L,1=0,2338
yF10_L,1=0,2437

CG511−2N_1

Wellenlänge λ /nm
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CIEF10_L-Normspektralwerte y−max(λ)=1
y−F10_L,1(λ)=A21l

−
F10_L,1(λ)+A22m

−
F10_L,1(λ)

+A23s
−

F10_L,1(λ)
A2j 0,6928 0,3496 0,000 (λ=540)

P60:Σy−F10_L,1(λ)=22,06
xF10_L,1=0,2338
yF10_L,1=0,2437

CG511−3N_1

Wellenlänge λ /nm
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P60

0,0

   

1,0

   

2,0

CIEF10_L-Normspektralwerte y−max(λ)=1
z−F10_L,1(λ)=A31l

−
F10_L,1(λ)+A32m

−
F10_L,1(λ)

+A33m
−

F10_L,1(λ)
A3j 0,000 0,000 2,1468 (λ=440)

P60:Σz−F10_L,1(λ)=47,30
xF10_L,1=0,2338
yF10_L,1=0,2437
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CIEF10_L-Normspektralwerte Ysum=100
x−F10_L,s(λ)=A11l

−
F10_L,s(λ)+A12m

−
F10_L,s(λ)

+A13s
−

F10_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P60:Σx−F10_L,s(λ)=99,17
xF10_L,s=0,2338
yF10_L,s=0,2437

CG511−5N_1

Wellenlänge λ /nm
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CIEF10_L-Normspektralwerte Ysum=100
y−F10_L,s(λ)=A21l

−
F10_L,s(λ)+A22m

−
F10_L,s(λ)

+A23s
−

F10_L,s(λ)
A2j 0,6928 0,3496 0,000 (λ=540)

P60:Σy−F10_L,s(λ)=103,35
xF10_L,s=0,2338
yF10_L,s=0,2437

CG511−6N_1

Wellenlänge λ /nm
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CIEF10_L-Normspektralwerte Ysum=100
z−F10_L,s(λ)=A31l

−
F10_L,s(λ)+A32m

−
F10_L,s(λ)

+A33m
−

F10_L,s(λ)
A3j 0,000 0,000 2,1468 (λ=440)

P60:Σz−F10_L,s(λ)=221,52
xF10_L,s=0,2338
yF10_L,s=0,2437

CG511−7N_1

Wellenlänge λ /nm
400 500 600 700
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CIEF10_L-Normspektralwert-Erregung
log [x−F10_L,s(λ)/y−F10_L,s(λ)]

P60:Σx−F10_L,s(λ)=99,17
xF10_L,s=0,2338
yF10_L,s=0,2437

CG511−8N_1

Wellenlänge λ /nm
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CIEF10_L-Normspektralwert-Erregung
log [z−F10_L,s(λ)/y−F10_L,s(λ)]

P60:Σz−F10_L,s(λ)=221,52
xF10_L,s=0,2338
yF10_L,s=0,2437


